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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1)

2)

3)

4)

5)

TerTelf TEAugH U WY UF W AW A e |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

st e & AT 2

All the questions are compulsory.

Tedeh U9 R IR a1 M3 IW-Yiae ¥ & ford |

Write the answer to each question in the given answer-book only.

o vt ® et @Ue E, 37 At % S uw wy E o |

For questions having more than one part, the answers to those parts are to
be written together in continuity.

99 U o et 9 ot Tt ® foReft wer ht gt / o / etemwmm g w R
|TYT & T Rt WE T |
If there is any error / difference / contradiction in Hindi & English versions

of the question paper the question of Hindi version should be treated
valid.

Tear Here

99 U ht Gie & 70 TgT e
TEAR HERE TO OPEN THE QUESTION PAPER

TEl | i
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6) ECLE 99 TEAT 37k TSk U9 IWR I vIeg HimT
H 1-13 1 20 vrg
El 14-22 2 60 vrsg
£} 25-27 3 100 wrsg
3 28-30 4 250 srsg
Section Q. Nos. Marks per Word limit
question of answer
A 1-13 1 20 words
B 14-22 2 60 words
C 25-27 3 100 words
D 28-30 4 250 words
7) ¥ AT 23 SR 24 WHiUE wTd @ Fafd § iR Ui 2 3k w1 R |
Question Nos. 23 and 24 are related to map-work carrying 2 marks each.
8) Tova @ wra & SucTsy HAT MU T WA Ht I Yt & @y Teeft w |
Attach outline maps of World and India with the answer-book.
9) uea AT 29 3R 30 H sraies fawew € |
There are internal choices in Question Nos. 29 and 30.
Qs - A
SECTION - A
1) “‘ama e afeer g o Tramia ame & e aftadasiier araeet & st g 17
T P i 36 ThR TRATNAT HA T SFHeraT hid 8 ? [1]
Which geographer defined human geography as the study of "the changing
relationship between the unresting man and the unstable earth."
2) SHEEAT 99 | FT A0 B 7 [1]
What is meant by population density?
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4)

S)

6)

7)

8)

9)

10)

3
AT FRTUMT TRATET & HTOR T il iR HHwa ATk o iUl Sl TR &
27 [1]
What is the basis of classification of main and marginal worker according to
standard census definition?

s & swraat & A ferfau | [Va4V2=1]

Name the approaches of planning.

farge samam 6t ot A § R fi wrfied fhaw fdea @ 2 [1]

What percentage does India contribute in the total volume of world trade?

qHET AR Te9 3foer % oTRfvieR wrelt o Fal 99 gu R ? [1]

Why are mediterranean regions inhabited from early periods of history?

gftarga et I g @ ? [1]
What is Transport Network?

1991 &t AR TAUMT & AR TRG S5t o 70 qifd <aan S=aean g foha
27 [1]
What is the minimum density of population required for an urban settlement
according to 1991 census of India?

fova & g oW ® @ W A REdeR ¥ dchtel 9vaeh 3g |@eE gEsy | [1]
Suggest a source of immediate connectivity with a relative living in a distant
region of the world.

TG @9 ¥ TS dF W AT Hhotdl shl TUET & @his gt &Rt forfan | [Va+Ys=1]
Write any two reasons for the problem of traffic congestion on road network in
an urban area.

11) e gfaes K afecal & e e ®iA@ Yggd & =@ wat ? (HE a)

[V2+2=1]
Which landforms will you select to see the linear pattern of settlement?
(any two)
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12)

13)

14)

4
gfe ara # ufgen e v ufowe @ 9@ @ EE gigt | = uvme uga i grarEn
27 [1]

What effect is expected in the growth rate of population if female literacy in
India increases to cent percent?

HET WRA o TrooT@UE Yo § ITAT o G 9 fohd T it ITHIOT SIfea=i 1 sTaetish
w7 [1]

Which type of rural settlements will you see during travelling through
Bundelkhand Pradesh of central India?

Qg - o

SECTION - B

g g fawma wEwn fit TR e’ i w8 TR mefrea n forfa |
[Vat+Vat+Yo4+Y2=2]

Write any four priorities of 'urban strategy' of United nations Development
programme.

15) 9Ra ® S R UgewTd hgl UTd WTa g ? 3ok his gt 3ugnt forfan | [1+1=2]
Where are lagoons and backwaters found in India? Write their two uses.

16) == Tt afeaat h s IR guETd forfau | [Vot Vot Vot Y/2=2]
Write any four problems of urban slums.

17) Scures &Y dehieh SR FAHTUT TS & YR W FER TF BIE UHM & IeNT ki geaan
AT | [1+1=2]
Compare the small scale and cottage industries on the basis of production
techniques and place of manufacturing.
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18) fr=ferRaa wnemar = ad 2001 =t == @ gafera ik - [Vt 242+ Y2=2]
1) 47.53 a) N
i) 54.46 b) &

iii) 90.92 C) W IR HYHR

iv) 61.03 d) fwEr

Match the following literacy rates of year 2001, with the states -
1) 47.53 a) Rajasthan

i) 54.46 b) Kerala

1) 90.92 ¢) Jammu and Kashmir
iv) 61.03 d) Bihar

19) sngfie Sftam Jteft wafy wguor ¥ SwRer 2 | awssy | [2]
Modern life-style is responsible for noise Pollution Explain.

20) 'A' W & @Fwer 530 = RRerHie @ waEEat 85860 =itk | I8 UQI R WU
R hINTT | [2]
Area of a region 'A' is 530 square kilometres and population 85860. Calculate
its population density.

21) wgH TS SWteRT o I YAt W A 3Tferes HeT UTH A o foru fohm weer it wiv waifaew
SUTh 2w Ta}'f& & i3 3 fewrwars forfau | [1+Y2+Y2=2]
Which type of agriculture is most suitable for high value crops in north-eastern
United states of America? Write any two characteristics of this type of agriculture.

22) i et TgX HAW GF W Taq qwuig o wit agrEn @ gq His 9R SuTE gest |

[Vt 242+ Y2=2]
Suggest any four measures for the promotion of sustainable development in
Indira Gandhi canal command area.
23) @ M fave & ToEn aAfa § Faforfaa gard vt &t gorise - [Va+VatVatla=2]
) o, i) g,
iii) iR, a iv) wieeht
Show the following air-ports in the outline map of the world provided to you -
1) London i1) Mumbai
ii1) New york, and 1v) Moscow
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24) @ ™ ara & TRE! AEtaa ¥ e gt a@ e Fegl i gunis -
[V2+V2+2+1/2=2]
i s, i) fagh,
iii) ehicTeRTaT, @ iv) =g
Locate the following cotton textile centres in the outline map of India provided
to you -
1)  Mumbai, i1) Delhi,
i11) Kolkata, and iv) Chennai
Qs - "9
SECTION - C
25) W3R wWE A SUAFET THs | [3]
Explain the utility of syber-space.
26) ARIHT IR | AT AT & ? 3Gk Tk T U hIRT | [1+2=3]
What is meant by International trade? Describe its types.

27) T SR TG Sl § SERYA vk TE HINY | [1+1+1=3]
Explain the fundamental differences between rural and urban Settlements.
TuUE - T
SECTION - D
28) TER O T AT g ? TAETR a3 & TILAT Rl G0 hITY | [1+1+1+1=4]

What is meant by communication? Describe the means of mass-communication.
29) sEm <kt fearfa ot awifea o gt TRl IR Rt SRl AHEATST | [1+1+1+1=4]
CPEC]
FoTt o foRegl IR TeteRtuT T Fdl it foeaR & GHgsy | [1+1+1+1=4]
Explain any four factors influencing the location of industries.
OR
Explain any four renewable sources of energy in detail.
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30) UERUT T 7Y THSATST AT TAGTH! UIERUT § FTURT UIATAS ki goi-t (e st &
FATa I - [1+1+1+1=4]

) ax
i) ik, &
i) OTerq T
areraT

Y 1 7ol THFATIY AT Mg Traty F @ forvqa AT SIS W I g e vivdRt
& 3r=Ta RISy - [1+1+1+1=4]

) ax
i) ferfar/wfsman
i) sust
Explain the meaning of pastoralism and compare nomadic herding and commercial
livestock rearing under the following heads :-
1) Area
i1) Process and
i11) Domestic animals
OR

Explain the meaning of agriculture and compare intensive subsistence agriculture
and extensive commercial grain cultivation under the following Heads :-

1) Area,

i1) Methods / process and

1)) Crops

3636 36
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